N = 0l & At & Ml A

SA REAYL
. 92 2 22 2 (2FES /Mo - 2F)

ol Ol2 M4C 29 CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
=T A A 53,258,312 61,604,844 A 8,346,532

= 9,027,000
Xl 599,000
J| 5,499,148
& 851,010
= 37,282,154
g2 2 22 2E(#EES /Mot E - =2) 39,675,040 43,800,666 AN4,125,626
= 9,027,000
Xl 599,000
J| 2,867,574
& 851,010
= 26,330,456
ot &% 29 1,238,785 1,637,191 A 398,406
= 0
Xl 200,000
J| 236,000
= 26,000
= 776,785
=3 ztel 53,329 58,277 A4,948
201 eI 52,629 57,777 A5,148
01 At 2teltl 52,629 57,777 A5,148
= 0l & 52,629 57,777 A5,148
Ox&Z N2 52,629
Y5138 Ss) 57,000& * 99JH A& = 33 16,929
“H(MESs) 300,000& * 99JH A& = 13 29,700
-bE U ARDSHANE(FES)
300,000& * 20004 = 13l 6,000
206 M= Hl 700 500 200
01 Mzl 700 500 200
=0 o 700 500 200
OgYes=ZE 2524 2¢ 5,000& » 1009 500
O==ZZAMN M2 2 100,000 * 29+ A 200
A2REAE HAALS 1,000 202,440 A 201,440
201 LBt 49H| 1,000 1,000 0
01 At 2eltl 1,000 1,000 0
= 0ff & 1,000 1,000 0
OXEd FZD =2 20,0008 * 503 1,000
MNERXE 2 298,456 270,474 27,982
.
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SM: 2TAYA
HE: g2 2 mel 29( SHaT - £3)

o9l 02 44E 29 (B9 @2
x s . Of &t o8 & & 0 A o -
CHH L HA(BA) - HREAY - BES (ZE o) (I o) Hns2
401 AEdY 298,456 270,474 27,982
01 A&l 296,620 268,540 28,080
=004 296,620 268,540 28,080

OS2 ISAE sAze
2,000,000% * 574 £ 10,000
ODIS&4E L ARSIHPAL YALS
80,0002 * 994 * 43 31,680
ODISA4E L ARSIHLAL HEZY(
997H 4 ) 120,0008 * 999 4 * 33l 35,640
OIS44+E 2 ARD2ZHFAL QNS4
Bl (997K & 50,000, 0002 150,000
ODIS&4E L ARSI AL 423
4 (997 350,0002 * 994 23] 69,300
03 A&l 1,836 1,934 ~98
=004 1,836 1,934 ~98
ontsas= S4AE 2Ol
254,940,000 * 0.72% 1,836
AT 24T AL 286,000 286,000 0
X 200,000
= 26,000
2 60,000
401 AEHY 286,000 286,000 0
X 200,000
= 26,000
2 60,000
01 A&l 286,000 286,000 0
X 200,000
= 26,000
2 60,000
=04 286,000 286,000 0
X 200,000
= 26,000
2 60,000
OARS +TASNBAY  286,000,0008 286,000
X 200,000
= 26,000
2 60,000
EREREEE 590,000 800,000 £210,000
2 0
o] 236,000
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SN SEAYL
o oo 2 Rl SU(BALS/MHLE - 4E)
ol Ol2 M4C 29 CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
= 354,000
401 A&HIZ=208I 590,000 800,000 A 210,000
= 0
J| 236,000
= 354,000
01 A&l 590,000 800,000 A 210,000
= 0
| 236,000
= 354,000
= 0l & 590,000 800,000 A 210,000
= 0
I 236,000
= 354,000
OHY=XSE U= =ZHLIAMS
590,000,000& 590,000
= 0
Il 236,000
= 354,000
Kot FerX A 10,000 20,000 210,000
401 A&BIZ =208 10,000 20,000 210,000
01 Al&HI 10,000 20,000 A 10,000
= 0ff & 10,000 20,000 210,000
OXlot SaX A 10,000,000& = 1JH A& 10,000
AaE BZ(4E301Y) (4TS ALSESIAH) 13,345,897 10,779,335 2,566,562
Xl 399,000
& 50,000
= 12,896,897
SHE 2945 MY 2,899,322 1,948,453 950, 869
202 O dl 15,520 15,520 0
01 =AYl 15,520 15,520 0
= 0l & 15,520 15,520 0
Oa=E AN RFA A 15,520,000& 15,520
401 A&HIZ=R0b 2,883,802 1,932,933 950, 869
01 A&l 2,875,000 1,926,000 949,000
= 0l & 2,875,000 1,926,000 949,000
OB HZHSAY 400,000,000 400,000
OxstdE XA 3,000,000& * 1090 & 30,000
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SH AEAYA
ol o2 2 el 2Y(BYPS/HOLE - +F)
S9l AAT BR(MEEDIY)(MATALSEEN) (B9 @2
x s . Of &t o8 & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
OBAMLE 247 HUAY
445,000, 0002 445,000
OBAMST HEXEL A
2,000,000,000! 2,000,000
03 Al = CHb| 8,802 6,933 1,869
= 0l 4t 8,802 6,933 1,869
OBAMSE A SOH 8,802,008 8,802
EFY ToNLE 78,575 80,882 ~2,307
308 RASHSOIH 78,575 80,882 ~2,307
07 MHSHARLD 78,575 80,882 ~2,307
=0l 4t 78,575 80,882 ~2,307
OZFY BOAMST M2AB52A 22
g3 78,575,0009 78,575
BoNSE a7 8,800,000 7,500,000 1,300,000
206 TR 8,800,000 7,500,000 1,300,000
01 Wl 8,800,000 7,500,000 1,300,000
=0 & 8,800,000 7,500,000 1,300,000
OEFY BAYLE 2T Y|
8,800,000,000! 8,800,000
MAT ARBEBA 999,000 999,000 0
401 ANZHIL LY 999,000 999,000 0
01 Al&HI 999,000 999,000 0
=0 & 999,000 999,000 0
OM+E A7 24TAH 999,000,0008 999,000
ALK sHEMBS LN 569,000 251,000 318,000
X 399,000
= 50,000
2 120,000
401 ANZHIL LY 569,000 251,000 318,000
X 399,000
= 50,000
2 120,000
01 Al&HI 569,000 251,000 318,000
X 399,000
= 50,000
2 120,000
=0 &t 569,000 251,000 318,000
X 399,000
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1,129,600

627,780

A5,000

A5,000

25,000

5,000

5,000

& 1 = 0f 4 o
(J13H)
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6,000
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H

569,000
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271,000
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H
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387,000
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H
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WH

116,000
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H
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1,000

1,000
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5,000
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ORYXT
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ok

Al & Hl
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=AY

01
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il

o

14,400,000
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Al
<+
o

i
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ok
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o
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H
o
el
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SN
X ZH -
L=

el

SEAA
g2 2 B2l SY(BAYRBS/MOLE - 2F)
ALE RX e (4SEASSHE)

o)
{0
]
{0

SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 0l & 5,000 0 5,000
O&dxE A2 HHEA A2
5,000,000& 5,000
401 AEBIZL LY 1,137,200 479,420 657,780
01 Al&H| 1,130,000 476,220 653,780
= 0ff & 1,130,000 476,220 653,780
OLEAMLETAIE HHIAMY 300,000,000 300,000
oz FAL=Hl 600,000,000& 600,000
OZ2+&x |RAE2H 200,000, 000& 200,000
OO HESI A 50,000& * 600H 30,000
03 AIEE£0HH] 7,200 3,200 4,000
= 0ff & 7,200 3,200 4,000
OLZFASTAIE HUIAMEY AIE20UYI
2,160,000 2,160
oz L X SAES AIEREUH
ull 5,040,000& 5,040
405  XHaHE S 20,000 50,000 A 30,000
01 ANHMLEEFSHI 20,000 50,000 A 30,000
= 0ff & 20,000 50,000 A 30,000
O&2=C HEI ZL(E=E) 20,000,000 20,000
s g2 17,200 14,700 2,500
201 B2 A Y| 12,200 12,200 0
01 Ar®2telt] 12,200 12,200 0
= 0ff A 12,200 12,200 0
Og22el =229l 12,200, 000& 12,200
401 AEBIZL LY 5,000 2,500 2,500
01 Al&H| 5,000 2,500 2,500
= 0ff &F 5,000 2,500 2,500
O&2x&Hl &X 5,000,000& 5,000
2= 22 A 34,040 34,040 0
201 B2 A Y| 34,040 34,040 0
01 Ar®2telt] 34,040 34,040 0
= 0ff &F 34,040 34,040 0
O%Z&ABAN =2 14,040,000& 14,040
O ESEEEIDA HMZEH|
2,000& = 10,0005 20,000
b == X 2t 2| 887,160 387,840 499,320
201 282 A Y| 180,000 162,000 18,000
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SN SEAYA
Hm: g2 2 pol 2Y(RFRS/NGHEE - £ H)
Sl AT 9K Bol(METAASEE ) ECHE
x s . Of &t o8 & & 0 A o -
SN ZH - (3H) - HRAY - BE2 (Z= o) (713 o) Hns2
02 Tzl 180,000 162,000 18,000
=204 180,000 162,000 18,000
Ot 4Xl SEREIAAY RN L4
30,000,0002 30,000
Of+c sgpelAry 88382
30,000,0002 30,000
Oth+X &Je3 120,000,000 120,000
307 Q120 H 17,160 15,840 1,320
05 ISz 17,160 15,840 1,320
=04 17,160 15,840 1,320
OH4X RAABIAAE Rl
17,160,000 17,160
401 ASH YL 690,000 210,000 480,000
01 A&l 690,000 210,000 480,000
=204 690,000 210,000 480,000
O X WEA&SEI: 80,000,0002 80,000
OtH4XI A 300,000,000 300,000
Ot %X KX 24t 200,000,000 200,000
Oth+X H2= 80,000,000% 80,000
OB %=Xl R %% 30,000,0002 30,000
TTot4E HE L RN (GHEEZIIY)(5H4 21,345,460 28,798,486 AT7,453,026
s=3H)
= 9,027,000
p] 2,631,574
= 644,010
z 9,042,876
Z2oILE AlEBE 1,202,110 1,161,286 40,824
401 ASH L2 1,202,110 1,161,286 40,824
01 Al&H 1,196,314 1,154,510 41,804
=04 1,196,314 1,154,510 41,804
OZIot+ 2 UANZ AL
200,000,000} 200,000
OBBot+E =&AL
50,000,0002! * 23 100,000
OZZot+HAAL X224
200,000,000} 200,000
OARBAY A A&
1,610,000,0009 * 4.74/100 76,314
024, 22TZo+H2AAE 2ETNS B
A 150,000,000 150,000
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SA: STAYL
Hu: o2 2 B2 SY(HIRS/MOLE - ST)
S9l: BBoAT HE L RNB(GFEEBIIY)(GHEESB5H) CERE
< = - Oll &F o & 0 A =
SN -3 -S(3) - NRA - BES (Z= o) (713 o) HnsZ
OHABBotEHeIAIE 2ETHS S0
oH 40,000, 0002 40,000
O2TIot+HAAANL MSBSE MI|2
DA 30,000, 0002 30,000
OABIGH4LHRIAL SSESE D2t
zotex 2 DA 30,000, 0002 30,000
OABIot4+HeAANL HE2229% L &
el 54 170,000,000 170,000
OBZTot4HelAlE =0t ARHNZ Al
o1 bl 200,000, 0002 200,000
03 Al&=0it] 5,796 6.776 980
= 0f ot 5,796 6,776 980
OARBAISET Al&20HH]
1,610,000,0008 * 0.36/100 5,796
SHZ BFIZNE As2gne 1,300,000 1,300,000 0
307 BI20lH 1,300,000 1,300,000 0
05 BI2teIErz 1,300,000 1,300,000 0
2 0f o 1,300,000 1,300,000 0
OBZIZANE 2| 1,300,000
St RN IIHRIAIE B2t St
1,300,000,0002! 1,300,000
Tt HAZ AL B 1,532,000 222,000 1,310,000
201 Ler2 | 82,000 82,000 0
01 A2t 50,000 50,000 0
= 0f o 50,000 50,000 0
OZZTol+MeAL 2129 DT} 4
L2 (Mot EH3) 50,000, 0002 50,000
02 ZZeHl 32,000 32,000 0
= 0f o 32,000 32,000 0
O3Tot+Hel® HB8slME
250,000% * 9H A * 12 27,000
OB23t+H2AAE AEEHEISbI
5,000,000% 5,000
207 TN 1,320,000 60,000 1,260,000
01 S ol 1,320,000 60,000 1,260,000
= 0f o 1,320,000 60,000 1,260,000
O3Tot+MelAE ZLEABA(SL.0H
) 40,000,000% 40,000
OBBot4HelA L JSHHBA(S S, Tf
4, 8425= 012, 2%)  170,000,000% 170,000
OBZTot+HelAE BN BA (32,0
) 20,000, 0002 20,000
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SN ETARYL
HE: e 2 Mol SY(FABS/MOLE - £F)
Sl BBEAE HE L SN2 (GHEEBIIY) (GHEESEE) (B9 @2
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
OSHZ o+ 8 JI=HE(HY) 89
1,000,000, 000%! 1,000,000
OS4S 9 3WXY 5422 VLB
90,000,000 90,000
403 RAESHSIHZO0IH 130,000 80,000 50,000
02 IS0l K= X OH & AL 130,000 0 130,000
=0 4 130,000 0 130,000
OB58 BT[t+H2IY 29 223
130,000,000 130,000
S+ FHl BIL S 898,200 1,048,200 A150,000
201 Ysregyl 7,200 7,200 0
01 At eyl 7,200 7,200 0
= 0l & 7,200 7,200 0
OBTL S DHEIIIRE 294
200,0008 * 9% * 43| 7,200
206 T2l 1,000 1,000 0
01 MEbl 1,000 1,000 0
=0 4 1,000 1,000 0
Oft4+E 248 IHTY 1,000,000 1,000
307 9120l H 850,000 1,000,000 A150,000
05 QI2IEr3 850,000 1,000,000 150,000
=0 & 850,000 1,000,000 A150,000
OB+ HHY| BIL 29 012+ ety
212,500,000 * 429 850,000
403 RACSHSKHZO0IH 40,000 40,000 0
02 RIS 0lCh& K= = CH & AL 40,000 40,000 0
=0 4t 40,000 40,000 0
OSHZ s+BHEY YUY AXAMY &
DB AASAL2 10,000,008 * 43 40,000
SN BTLYHR 4,959,000 4,959,000 0
2 3,331,000
| 977,000
2 651,000
201 sty 4,959,000 4,959,000 0
2 3,331,000
| 977,000
2 651,000
01 At eyl 4,959,000 4,959,000 0
2 3,331,000
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SN

X XH -
S =

0K 2 4>
0B 110 F1
THo

el (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 At 2teltl | 977,000
i 651,000
= 0ff &F 4,959,000 4,959,000 0
= 3,331,000
Il 977,000
= 651,000
Odt=2HAEH| BTL dHE  4,959,000,000& 4,959,000
= 3,331,000
Il 977,000
= 651,000
[ {N=1Rs]! 20,000 30,000 A 10,000
801  ollgldl 20,000 30,000 210,000
01 getaldlibl 20,000 30,000 A 10,000
= 0l & 20,000 30,000 210,000
ool gl gl 20,000,000& 20,000
UEs 212 S36t=HelAd XA 372,860 1,863,000 A 1,490,140
= 261,000
= 33,560
o 78,300
403 UXHHMSHE01H 372,860 1,863,000 A 1,490,140
= 261,000
& 33,560
= 78,300
02 2J/2SOHCHS X2 X 0HEl AL HI 372,860 1,863,000 A 1,490,140
= 261,000
< 33,560
= 78,300
= 0ff &F 372,860 1,863,000 A 1,490,140
= 261,000
= 33,560
= 78,300
OUs 218 BS3ot=XelAlE XA
372,860,000 372,860
= 261,000
= 33,560
= 78,300
A St FUIALS 1,457,140 2,471,000 A 1,013,860
= 1,020,000
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SA REAYL
o oo 2 Rl SU(BALS/MHLE - HE)
Chel: 3386l &5 2 Sl (o==3019)(at==S L3 H) (o2&
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 131,140
= 306,000
403 XXEHHSTH201E 1,457,140 2,471,000 A 1,013,860
= 1,020,000
= 131,140
= 306,000
02 SIS OHCHS X2 X 0HEl AL HI 1,457,140 2,471,000 21,013,860
= 1,020,000
= 131,140
= 306,000
=01l 4 1,457,140 2,471,000 A1,013,860
= 1,020,000
= 131,140
= 306,000
O™ St=2t01 EHIAY
1,457,140,0002! 1,457,140
= 1,020,000
= 131,140
= 306,000
201 ARE B3ot=HelAlE EXAY 921,430 0 921,430
= 645,000
J| 166,000
& 33,170
= 77,260
401 A&BIZ =208 921,430 0 921,430
= 645,000
Il 166,000
= 33,170
= 77,260
01 Al&UI 914,852 0 914,852
= 640,356
| 164,838
= 32,938
= 76,720
= 0l & 914,852 0 914,852
= 640,356
Il 164,838
= 32,938
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SA REAYL
o oo 2 Rl SU(BALS/MHLE - HE)
@ Z2ol4+E &5 2 S22 (ot=EZ2I|Y)(ot==EL3IH) (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 76,720
OX0l 272 B3dt+=H2AIE EXAS
914,852,000& 914,852
= 640,356
Dl 164,838
= 32,938
= 76,720
03 AIES0Hb] 6,578 0 6,578
= 4,644
J| 1,162
o= 232
iy 540
= 0l & 6,578 0 6,578
= 4,644
J| 1,162
== 232
o 540
OX0l 2R 220t KXH2lAlE EXAL
6,578,000 6,578
= 4,644
Dl 1,162
== 232
o 540
Y ARE B30 HMH2AE EXNALY 1,942,860 0 1,942,860
= 1,360,000
== 174,860
= 408,000
401 AlEHIZL201H] 1,942,860 0 1,942,860
= 1,360,000
== 174,860
= 408,000
01 Al&HI| 1,928,988 0 1,928,988
= 1,350,208
== 173,636
= 405, 144
= 0l & 1,928,988 0 1,928,988
= 1,350,208
== 173,636
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SA REAYL
H: U2 = 22 SH(BEES/MGIEE - =2
@ Z2ol4+E &5 2 S22 (ot=EZ2I|Y)(ot==EL3IH) (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 405,144
OfY A27E B3dt+=KH2AIE XA
1,928,988, 000& 1,928,988
= 1,350,208
= 173,636
= 405,144
03 A&S20bl 13,872 0 13,872
= 9,792
== 1,224
iy 2,856
= Ol & 13,872 0 13,872
= 9,792
= 1,224
= 2,856
O3Y A27E 330X AlE XA
13,872,000& 13,872
= 9,792
== 1,224
o 2,856
SAZ SHI AL AE2I2A2(EX) 3,297,000 3,297,000 0
Dl 1,360,000
o 1,937,000
307 212t0| A 3,297,000 3,297,000 0
Dl 1,360,000
= 1,937,000
05 QIt?E= 3,297,000 3,297,000 0
J| 1,360,000
= 1,937,000
= 0l & 3,297,000 3,297,000 0
Dl 1,360,000
= 1,937,000
OZ22Z206l=HXde2lAl&d 212t &I
2,623,000,000& 2,623,000
Dl 1,123,000
= 1,500,000
O2aXelAlE a2t EY| 496,000,000& 496,000
Dl 196,000
= 300,000
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M AEAYA
o oo 2 Rl SU(BALS/MHLE - HE)
Chel: 3386l &5 2 Sl (o==3019)(at==S L3 H) (o2&
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
OLnEE3ot=HelAld 212t &Yl
178,000, 000& 178,000
Il 41,000
= 137,000
S4 St Xl MelAld SEAY 2,728,570 2,728,570
= 1,910,000
= 245,570
= 573,000
403 XXESHHSAH201H 2,728,570 2,728,570
= 1,910,000
= 245,570
= 573,000
02 2J12SOCHS X2 = 0Hal A HI 2,728,570 2,728,570
= 1,910,000
= 245,570
= 573,000
=0f &t 2,728,570 2,728,570
= 1,910,000
= 245,570
= 573,000
O284 ot Xl HMelAld S8 A
2,728,570,000& 2,728,570
2 1,910,000
= 245,570
i 573,000
=g o222 FHIAMY 714,290 714,290
= 500,000
I 128,574
= 25,710
- 60,006
403 XXESHHSIHE0IH 714,290 714,290
= 500,000
J| 128,574
& 25,710
= 60,006
02 SIS OHCHS X2 X 0Hal AL HI 714,290 714,290
= 500,000
| 128,574
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SA: 2T AL
Hu: g2 2 Dol 2Y(RYPS/HTLE - +F)
©ol: 3440 S (MLEALSHIN) CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
OXZ RSOIM MUlA: 482
708 * 10,0002 * 128 8,400
OM%T XA K= 20,800,000 20,800
OAHHE 7 3,000,000% 3,000
OEURY (XM &30 L 287
2,000,0002! 2,000
OBIRAHA Nol2E It
14,0008 = 14% = 128 2,352
02 Tzl 1,680 1,680 0
=04 1,680 1,680 0
ONERHE Sl SH| 480, 0002 480
ODXNNEY L 28I RXZHH|
1,200,0002 1,200
202 OfHl 23,040 25,040 A2,000
01 2ol 23,040 25,040 A2,000
=004 23,040 25,040 A2,000
O4+% Q3 21 A2ET oiY)
23,040,000 23,040
301 LRI 245,060 236,060 9,000
1 e Az 245,060 236,060 9,000
=04 245,060 236,060 9,000
SEHY PAAEH @
238,080, 0002 238,080
OBl2tol Z&@ U= 4,200,0002 4,200
OBIAAHA Yats 29 1,400,0002 1,400
OBIAAH B1Y +g 960,000 960
OBIHAHA AKX A28 30,0008 * 142 420
CEHI DHAE 30,000 30,000 0
401 AEBILRHE 30,000 30,000 0
01 A&l 30,000 30,000 0
=004 30,000 30,000 0
OL&XeIl BHAL 30,000, 0002 30,000
Mot4 2al(Xst+2elSEaH) 527,956 317,320 210,636
= 15,000
2 512,956
Not+ olgRega 2o 429,436 150,000 279,436
201 LBt 2,836 0 2,836
01 At el 2,836 0 2,836
=04 2,836 0 2,836
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SN

M £ 2| 29( AolaT - )
€9l Xiska 22(Xs 812) ool @
- o Ofl &K & 0 A =
AN Z . cHEAMY - BESE (Z= o) (713 o) Hns2
OXI5tA EREE VTS
>42 1,500,0002 1,500
OXIBt 2= A C 4R0I84+42
1,000,000 1,000
OLIFIEE] e
14,0008 * 2% = 128 336
202 o4l 4,560 4,560
01 2ol 4,560 4,560
= 0f & 4,560 4,560
OXdt#=0822 22 €2 =X ot
4,560,000 4,560
301 gerEA3 40,040 40,040
N oeeaz 40,040 40,040
= 0f & 40,040 40,040
OpI2AE2 39,240
AErY L5009 * 1,800 » 128 32,400
-usaY 200,0008 = 2% = 128 4,800
—-SALY 50,0008 = 2% = 128 1,200
sy 35,0008 * 2% « 128 840
ORItAE Y TSHl 150,008 * 2Y * 23] 600
ORIZHH AR 5ta 2 100,0008 » 2 200
307 QIZol ™ 350,000 150,000 200,000
05 gIzZtelsta 350,000 150,000 200,000
= 0] & 350,000 150,000 200,000
OX&ts OIRRE2 FH&ZA 2|
350,000,000 350,000
401 Al&EHIY 32,000 32,000
01 A& 32,000 32,000
= 0f & 32,000 32,000
OSAA&D 200,000% * B0JH £ 12,000
OXdts 8 L 24
200,0008 * 10074 £ 20,000
Xots BX2= 40,000 120,000 280,000
= 12,000
2 28,000
401 AlEHI L2 40,000 120,000 80,000
[ 12,000
2 28,000
01 A&l 40,000 119,136 AT79,136
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SN

Hu: g2 2 del RY(FYLE/MELE - 2F)
o Kot el (Xot=2elSE3H) (o2&
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
01 A&l < 12,000
= 28,000
= 0fl &F 40,000 119,136 AT79,136
= 12,000
= 28,000
OXots EXH=D AL 40,000,000& 40,000
= 12,000
= 28,000
Aot 2& 2 48,520 47,320 1,200
201  LEt24dH 32,020 30,820 1,200
01 AtR2eltl 28,300 27,100 1,200
= Off & 28,300 27,100 1,200
OXlot EX2=Y KX 22
950,000& » 280H A& 26,600
OXdte HEZRY OIS
100,000& = 2% 200
OXlot=2te| 42 222 HE  1,500,000& 1,500
02 =524l 3,720 3,720 0
= Off & 3,720 3,720 0
OXlot EX2=Y SRS
10,000& » 318 = 12& 3,720
301 LEtBaE 1,500 1,500 0
11 JIEtE& 3 1,500 1,500 0
= Off &t 1,500 1,500 0
OXsts $XS ADNBA=
50,000& * 303 1,500
401 AEHIZ=R0YI 15,000 15,000 0
01 Al&HI 15,000 15,000 0
= Off & 15,000 15,000 0
OXGts HLAIE(HS)E&=7Y
5,000,000& 5,000
OXlots Bx2= B4
5,000,000& * 2 10,000
Kot=HXE FAS2XZALY 10,000 0 10,000
& 3,000
= 7,000
401 A&BIZ=R08I 10,000 0 10,000
= 3,000
= 7,000
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SA: 2T AL
Hu: g2 2 ol 2Y(RYPS/HTLE - +F)
ool Xote 2el(XstsRelSEaH) CER-ED
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
01 A&l 10,000 0 10,000
= 3,000
2 7,000
=0 10,000 0 10,000
= 3,000
2 7,000
OXGH+ZXZ FNZIXRAAY
10,000, 000% 10,000
= 3,000
2 7,000
+HPH 59,460 18,330 41,130
2T Y 18,960 17,830 1,130
201 LBt 10,000 10,150 A 150
01 AtR2reltl 7,300 7,450 A 150
=04 7,300 7,450 A 150
O+Zze g2 222 =
5002 * 5,000% * 15 + 23] 5,000
O4+ZBE| YR B4 HH
50,0002 * 1004 * 43 2,000
ONQUGH+MRIAL S TRV N=PY
10,0008 * 3% 300
02 ZZ2Hl 2,700 2,700 0
=004 2,700 2,700 0
OFSZE B4 AUE 2BLS2
2708 * 5,000% * 23] 2,700
202 OfHl 8,960 7,680 1,280
01 2ol 8,960 7,680 1,280
=04 8,960 7,680 1,280
Oxzel 2= ol 8,960,000% 8,960
Hels eIl Bel 500 500 0
206 T2 500 500 0
01 Ml 500 500 0
=04 500 500 0
O+TANES M2y 7
10,0008 * 58t A 500
TEsFA B 40,000 0 40,000
401 ANEHL2HY 40,000 0 40,000
01 A&l 40,000 0 40,000
= 0f & 40,000 0 40,000
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SA AEAY A
M e 2 Do SA(BALS/MEILE - +F)
ool AEEN (cHel e
x s . O 4t 0 & & 0 A o -
B -3 .. (ZH) - MIBAMY - BAS (Z= o) (713 o) Hwns2
| | | OS® Z=staa &3 40,000,000%! 40,000
TH A2 2 50,000 50,000 0
HAAIE S X 50,000 50,000 0
401 AlEHI LS 50,000 50,000 0
01 Al&H 50,000 50,000 0
= 0f A 50,000 50,000 0
OFAN WXSE ST} 30,000,000 30,000
OLS 2®Et © MIAL DA ZA
20,000,000 20,000
THR 22 (F ) (0l Il /0 HIH) 20,000 20,000 0
CGlHIHI 22 (A4 Al =23 ) 20,000 20,000 0
oll Bl bl 20,000 20,000 0
801 olidldl 20,000 20,000 0
01 BkoHI Yl 20,000 20,000 0
=0 A 20,000 20,000 0
Ot bl 20,000,000 20,000
HNSAAY| (2T A A)(IIEH/IIE) 2,195,108 1,997,749 197,359
I 2UH| (MLEBI|Y)(MALTAIASHSH) 1,484,033 1,431, 104 52,929
2oL IY MIOIAHY (MLT) 1,462,851 1,411,735 51,116
101 o124 1,173,020 1,171,521 1,499
01 B4 943,080 922,168 20,912
= 0f A 943,080 922,168 20,912
o2 630,245,000 630,245
OF2+° 46,190,000 46,190
OF22gIIa2 19,200,000 19,200
OAMZte2e4+g 53,708,000 53,708
omezedsy 16,297,000 16,297
ONE2g 18,480,000 18,480
SV EET eSS 18,560,000 18,560
sSagoag 4,800,000 4,800
PRS- 8,640,000 8,640
OF M AlY| 31,200,000 31,200
O™ =St 71,820,000 71,820
Qo1 It A H| 23,940,000 23,940
02 JEtRBA 209,940 249,353 A 19,413
= 0f A 229,940 249,353 A19,413
o=z 163,916,000 163,916
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SN SEAYL
Y HE2ABUI (=S AFL A)(DIEHIIEL)
TRl QIESAY| (AT 2D ) (AT AIESLESAH) (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
o&dz2+¢ 13,660,000& 13,660
O&d2=Y Jtat= 5,400,000& 5,400
oits==4 6,720,000& 6,720
oMdstdlE x4 9,280,000& 9,280
OAzeZ22sg 14,472 ,000& 14,472
Ooxgzed 16,492,000& 16,492
204 AR AL| 70,860 56,400 14,460
01 H¥ZHR=HAH| 1,200 1,200 0
= 0l & 1,200 1,200 0
OBz HRH A 1,200,000& 1,200
02 Mz 22 37,020 26,400 10,620
= 0l & 37,020 26,400 10,620
O&ZE X 37,020,000& 37,020
03 SE¥FI=RZHI 32,640 28,800 3,840
= 0l & 32,640 28,800 3,840
OEHH2Z Y| 32,640,000& 32,640
304 A=REY3S 218,971 183,814 35,157
01 d=2g3 175,649 183,814 A8,165
= 0l & 175,649 183,814 A8,165
@)L= == 175,649,000& 175,649
02 IUAZEEZ 43,322 0 43,322
= 0l & 43,322 0 43,322
O=0AH2LEE3 43,322,000 43,322
=AY (1244]) 21,182 19,369 1,813
101 o2l 21,182 19,369 1,813
04 JI2tH2=2AsE= 21,182 19,369 1,813
= 0l & 21,182 19,369 1,813
OF A2 22 (20, 4088 ¢ 23
o) 21,182,000& 21,182
ol 2gyl(ot+==271g)(at==S €3 H) 367,947 309,212 58,735
SRS Y HEAHH (dt=5) 367,947 309,212 58,735
101 o144l 295,194 252,571 42,623
01 2= 295,194 252,571 42,623
= 0l &F 295,194 252,571 42,623
Ogurtal 8 295,194,000 295,194
204 AR AY| 18,600 16,380 2,220
02 Mz 22 9,000 7,740 1,260
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SA: 2T AL
= HER2GAU (=T AL A ) (JIEHIIE
C2: 2l (4aE30L) (4T AESESIA) (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES Sl i BlRE2
OuetEH ol8x=+2 800,000& 800
Olz+sg 3,060,000& 3,060
OZet=ZegH dUiAEz 6,000,000 6,000
OZet=A dUAEE 6,000,000 6,000
O1x SYIelyH AdHAEE 4,800,000 4,800
O= &l 18,900,000 18,900
Og=2t| 18,030,000 18,030
02 =29l 40,225 34,396 5,829
= 0fl &F 40,225 34,396 5,829
ORER3 15,360,000 15,360
O Xt el 12,000,000 12,000
O&==S &3l 2,520,000& 2,520
OZEHOIXl SX22cl8l(S/W)
145,000& » 128 14 1,740
O321g &I T2 FXE=Hl
8,605,000 8,605
202 Ol 18,400 18,400 0
01 S 18,400 18,400 0
= 0fl & 18,400 18,400 0
O=cdHE JRFT oYl 18,400,000& 18,400
203 YR F&H 13,560 13,800 A 240
01 JI22IYRFAH 3,300 3,300 0
= 0fl &F 3,300 3,300 0
OJI22IPLFLA| 3,300,000& 3,300
02 FNMHRFAH 1,000 1,240 A 240
= 0fl & 1,000 1,240 A 240
OF AP R2FEH| 1,000,000& 1,000
03 AHMFAHLSFAH 5,000 5,000 0
= 0fl & 5,000 5,000 0
OA ALY 5,000,000 5,000
04 EN2IHRFAH 4,260 4,260 0
= 0fl & 4,260 4,260 0
OFM2IERFAH 4,260,000& 4,260
405  RHaHH SHI 50,400 3,900 46,500
01 &Y ESSFHSHI 50,400 3,900 46,500
= Off & 50,400 3,900 46,500
Ot2ls ARI1D1 X 2L
1,300,000 = 3CH 3,900
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SN ATAYAL
M HHS YU (STAYL)(IIE/IIE)
Sol: I RAH (MAEBIIY) (ML CALSESH) (cte: @
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES Sl T BlRE2
OLES tHl 7 1,500,0002 * 17H 1,500
OZEE POA 7 2,000,0008 * 157H 30,000
Ostessl 15,000,0008 * 17H 15,000
NAE BRE3 S 13,000 4,000 9,000
802  BrE20lE 13,000 4,000 9,000
03 BREIS 13,000 4,000 9,000
=0 4 13,000 4,000 9,000
ODHE M4+E ASE By Bz
3,000,000 3,000
OBEE A4= NEBA BRY a3
10,000,000% 10,000
JI2ZH (G4 =21 (st =523 ) 63.638 52,822 10,816
ol 22l 63.638 52,822 10,816
201 Yste | 39,638 37,822 1,816
01 AbR22lH| 29,782 28,057 1,725
=0 & 29,782 28,057 1,725
QEIETES=:] 5,082,0002! 5,082
ozl 7,000 * 6% * 1502 6,300
OBt4+E BIILSHaN ZMBME2E
10,000,000 * 14 10,000
OXZE U2t¥H +42 20,0008 +203] 400
OBt+EZ2JIY LI DUVEE XA
+4+2 3,000,0002! 3,000
Ozl 5,000, 00024 5,000
02 22| 9,856 9,765 91
2 0f & 9,856 9,765 91
Odt+E 8 3l | 2,400,000 * 13| 2,400
OBJIg HasH T2 I+
7,456,0008 * 13] 7,456
202 OfH 20,000 12,000 8,000
o1 =2Uoil 20,000 12,000 8,000
=0 4 20,000 12,000 8,000
Odt+ESEsIH 2 P2XT ol
20,000,000 20,000
802 ©re30IE 4,000 3,000 1,000
03 B2EIES 4,000 3,000 1,000
2 0f o 4,000 3,000 1,000
OBI+ER22 X2 2 N ASE oia
2 4,000,0002! 4,000
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S ST AYA
MM HE2AHH (ST AFSA)(JIEH/DIE
el HAAIASK S
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES (ZE o) (I o) Hns2
HAMAERX 45,788 37,488 8,300
2293 45,788 37,488 8,300
201 LEr2HH| 42,788 36,288 6,500
01 AR 22lH 2,190 2,190 0
=0l At 2,190 2,190 0
OHZE BA =42 450,0008 450
OFINQHHAA =8 120,000 * 12% 1,440
OFA YW2L)| A= 25,0002 * 123] 300
02 22=29H| 40,598 34,098 6,500
=0l At 40,598 34,098 6,500
O2Z22=2 2 HMA 26,548
-Hoe2 2,000,00024 * 12& 24,000
= 150,000 * 12% 1,800
-HEe2 25,0002 * 12’ 300
“AEE BPLARE2 50,0002 * 23 100
-pMES AR 29,0008 * 12 348
OA S ZHI KXYl (1,601 ) 9,000,000% 9,000
O Xt & et] 3,600,000 3,600
OAEOHE 2t 1,450,0002 1,450
307 ©IZHOl ™ 3,000 1,200 1,800
05 pIZtRAEr3 3,000 1,200 1,800
=0l A 3,000 1,200 1,800
OSOFH A A (HA 2013 H|)
100,000 * 12% 1,200
OROIBHIANAS (AN 2III](CCTV))
150,000 * 12’ 1,800
HEES(=TAMAL)(BIES/MGILEE - £8) 11,368, 164 15,786,429 A4,418,265
pj 2,631,574
= 8,736,590
HEHNKS(=TAIEA) 8,736,590 11,097,229 22,360,639
ZIIYELSH 22 8,736,590 10,825,909 A2,089,319
701 JIEtBIHENES 8,736,590 10,825,909 A2,089,319
03 ZILELFHN=IES 8,736,590 10,825,909 A2,089,319
=2 0fl At 8,736,590 10,825,909 A2,089,319
O£+ IZINYSLEIYNH N2HES
1,936,590, 0002 1,936,590
OBtE=CZINYELFH N2AHES
6,800,000, 0002 6,800,000
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M AEAYA
HH: WHRES(=TAMLAM)(BZES/4ot=E - =2
2l HEHAHKE(ZZAILA)(EMESLSIH) (o2&
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
WEHAHXE (=T AL A)(=ENESESH) 2,631,574 4,689,200 A2,057,626
J| 2,631,574
SIBELEIIAHNEEZ 2,631,574 4,689,200 A2,057,626
J| 2,631,574
701 JIEtIIHESEES 2,631,574 4,689,200 A2,057,626
J| 2,631,574
02 BILEEHILEES 2,337,000 2,336,800 200
| 2,337,000
= 0l & 2,337,000 2,336,800 200
I 2,337,000
OstdII=ANd 29| 1,360,000
-Zo MelAld 22t E| 196,000, 000& 196,000
J| 196,000
-=3otaHeld oIzt el
1,123,000,000& 1,123,000
Il 1,123,000
~AAE23 3ol Ald QI2ER EY|
41,000,000& 41,000
J| 41,000
Odt=2HEH| BTL A= 977,000,000 977,000
J| 977,000
03 BIISEEIAHN=2EES 294,574 2,352,400 AN2,057,826
bl 204,574
=0 294,574 2,352,400 ~2,057,826
J| 294,574
O=2& o222 FH ALY 128,574,000& 128,574
J| 128,574
OL0l 272 S3ct=HelAd XA
166,000, 000& 166,000
Il 166,000
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